_Afm| ;?EVI¢W boa Fxém,

.:&ZLG;:', v/ﬂJﬂ'-?'/‘ '/0‘5? _(2:-—5)’ /Of J0

an

B foke: Li (20-0=%"

L3

a%

B ol *log, 5= log 2 = g

8) Buplify * 2474 5x-3

' , _ Y x4 llx-3
I@ ‘;s.. | l'-“ 'l ‘ | Bp- 15 |
- p="tp=5

('NEn a= /3 19"!7 MD d= 20 F/vp+/4£ /Mdafﬁf

auale
' J-

| ‘ - Two planes leave an airport at the same time. After one hour they
S

- are 189 km away from each other. One plane traveled 170 km and the ™ -

" | other plane traveled 165 km. What is the angle from where they took
,'_”H_ off from the airport? (tenths place)
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At Tucson Raceway. Park, your horse, Soon-to-be-Glue, has a probability of 1/20 of coming in first place,
a probability of 1/10 of coming in second place, and a probability of 4 of coming in third. place. First place
pays $4,500 to the winner, second place $3,500 and third place $1,500. Is It worthwhile to enter the race
if it costs $1,0007 ]
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6D Solve 2 log (32=ax) = log ¢
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